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For each question given below, four answers are given.

Out of four, only one answer is correct. Select the
correct answer :
(i) oot R 9ol Origgd — -
The following reaction is an example of —
Zn+ CuSO,— ZnSO,+Cu
(a) sikeare @t (Combination reaction)
(b) Rearem @it (Decomposition reaction)
(c) =iiRet et (Displacement reaction)
(d) fa@r#Pirsel @feszi (Double displacement reaction)
w= (i) TR DAl =W, I 79 o9 pH I I 23—
Tooth decay starts if the pH of the mouth falls below:
(a)8.0 (b) 7.0 (€)5.5 (d)3.5
(iii) <01 w6 ! oGz el R0z, 39 pH 27 Sfiw—
A solution turns red litmus blue, its pH is likely to be-
(a)l (b) 4 (e)5 (d) 10
PT.0.

www. AssamStudyHub.com




www. AssamStudyHub.com


(iv) ©=4 (ICB! CRAIREAIE GG bl SRIZE —
Which one of the following is an example of
Dobereiners triads.

(a) Na, K, Ca (b)Li, Na, K
(c) CL,Br, F (d) Pb, Ni,Ag
(v) GTlea #fiqe oifeiara #1417 <bre AETE= a1 Eirereits
sArRrlels il @EEE— '
As we move from left to right in a period in a periodic
table, the atomic radius gradually —
(a) Q16 (Increases)
(b) «ts (Decreases)
(c) a2 AitF (Remains same)
(d) ¢#7a @bl 7123 (None of the above)
(vi) Efers (72 GIRETRFE—
The xylem in plant is responsible for—
(a) =i #fEazs (Transport of water)
(b) W= #ifs@zs (Transport of food)
(c) @i’ afoes #if#aza (Transport of amino acid)
(d) sifZren #ifi@ee (Transport of Oxygen)
(vii) T R oI (7 AT i STl T R e <,
0! Te—
The part of the brain which maintains posture and
equilibrium of the body—
(a) G5fZ@r (Cerebrum)  (b) of&cz=iis (Cerebellum)
(c) =ig=eg (Spinal cord)  (d) Grgeil (Medulla)
(2)

(viii) 45! FRGaR wE= el 91%% 1l T—

. YA

-

The gap between two neurons is called —
(a) @5 (Axon)

(b) ceTGIZE (Dendrite)

(c) ce=el (Impulse)

(d)” 2Z=#{= (Synapse) -

(i?;) "vﬁm crae f#ee Reffae wramaR Ta—

The sex chromosome responsible for being male

human being is—
(@ YY (b) XX © YYY (d)XY

(X) I S35 6] Sz e —

An example of homologous organs—
(a) v4RF (CEII ST AMET (TTF
- Wings of a bird and a bat

(b) =R AR =i IR (T

Wings of a butterfly and a bat
(c) =IfFT #ifR o 2= T©

Wings of'a pigeon and hands of man
(d) N6 BaiRs ~AIR wiRe crfRE #ifR

Wings of a parrot and a honey-bee

(xi) 924 TG (S a1 378 (< AT AR TRE TR

I | EHpAAE T IR H9d S —
The size of a real image by a convex lens is equal to
the size of an object. The focal length of the lens is

equal to—
O 2
(c) 2v (v

(3) P.T.O.




(xii) TSR AToARTS 3 GBI ST qEh v e |
afswfere afa—
A ray of light incidents through centre of curvature
of a spherical mirror, the reflected ray will —
(1) &4 TG #I[ 2T
Pass through the pole
(b) it ST #il4 %9
Pass through the focus
(c) @ «itaifr 9fF =i
Retrace its path
(d) 9= e FAEEE 29
be parallel to the principal axis
(xiii) IF]Z4 503 99 O S 510w Faig 2 —
The human eye forms the image of an object at its —
(a) @ffai(Cornca) (b) 534 =il (Iris)
(c) v 9 (Pupil) (d)=fF=G (Retina)
(Xiv) =9 (G Gla ' *Iferq e Trged ma—
Which of the following is not an example of a biomass
energy SOUrce :
(a) @15 (Wood) (b) coli (o2 (Gobar gas)
(c) #Fmfs «if& (Atomic energy)
(d) ===1 (Coal)
(xv) TSl T *feq Fore T —
The principal source of energy is —
(a) #iFmIIR= <If& (Atomic energy) (b) 3 (Sun)

(c) 5% (Moon) (d) @14 5 (LPG)
4)

. 1

(xvi) @ (5123 24 Sl Zei—
The main constituent of bio-gas is —
(a) =2g’ta (Hydrogen)  (b) &E% (Butane)
(¢) 22 (Ethane) (d) frezst (Melhanc)

(xvii) ©=1 @l Rferars Ieafe ﬁﬁﬁﬁl :
One of the following processes lhdl dnes not
involve a chemical reaction is—
(a) s=si=it (Melting a candle wax when heated)”
(b) = ge=. (Burning of a candle wax) ;
(c) =y zem (Digestion of food in your stomach)
(d) ¥+ =% (Ripening of banana)

(xviii) B4 BfFae........... el Zh |
......... is produced in precipitation reaction.
(a) =r@9 (Salt)
(b) stz (Gas)
(c) @9y =194 (Insoluble salt)
(d) =i (Water)

(xix) =iy wifFma 82w FifRe e g 4% Li,Na, K, Rb¥
fooTe witizers Ryje e «rolRy T6—
Among the first four alkali metals in group I of the
periodictable, Li Na, K, Rb, the most electropositive
metal 15—
(@Na (b) K (c)Li (d)Rb

(xx) R (PN WA 23 e [Rafde afeRs som se—
Which mirror forms erect and mangnified image—
(a) ©ee Wit (Convex mirror) -

_.. (b) sm= Aitai (Concave mirror)

wree - (€) 19O WIAN (Plane mirror)

(d) e=@9 @bre 923 (None of the above)
(5) PTO.
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Give very short answer to the following questions :

(i) K, Na, Ca®is Mg Sogs @R Afeae abRsie au e
Among K, Na, Ca & Mg, which one is the least reactive
metal?

(ii) ¥/ ToIzg HE=io Ted fac iy o'+ SHET Sern
T | G T TRy &2
When Copper is heated in air, a black oxide is produced,
what is the black oxide?

(iii) CaOCL, = teae st 5 2
Write the common name of CaOCL,?

(iv) 22" =& (oifdg &

What is Plaster of Paris?

(v) wiyfees #fige 3@

State the Modern Periodic law.

(vi) P9 923 SRS GAIREART BTG Sifeet (72
Did Dobereiner’s triads exist in the column of Newland's
octave?

(vii) FiSeTe= Fawrs fFum A2 Ghe 2 i ol taifes 2
How many elements were known at the time of
Newlands? '

(viii) Irgsie &2
What is an Alveoli?

(ix) o SEEerERE i 2
Write the function of the Biological catalyst

(X) TR CoEe 43! SEREEeE T &2
Name the respiratory pigment present in our blood?

(xi) ATP 52
What is ATP?

(6)

(xii) =R TS Sferm areie &2
What is the importance of iodine in our body?
(xiii) Sr@eFIq) S IREFIN qrald! S A= w4 AfZmE T
fran
Name the Gland that performs both endocrine as well
as exocrine functions.
(xiv) f&m e
Define Gene.
(xv) e esfe bf Swizad fral |
Give an example of Analogous Organ.
(xvi) I=5ISq G (I 2
Who is the father of genetics?
(xvii)ereif) 5Ra R
What is a dominant character?
(xviii) siSYa Prezer ot wieai &mﬂ@@amﬂaww
= e
Why do we prefer a Convex mirror as a rear view
mirror in vehicles?
(xix) e waor SI 93 e
What is the SI unit of power of lens.
(xx) 2m T T SEoe (FE 4 ! e 21|
Find the power of lens of a concave lens whose focal
length is 2m.
(xxi) 53 SATAEH “Fro! 5 2
What do you mean by power ofaccommodation of eye?
(xxii) =@ gfe" e yag wm e
What is the near point of the human eye with normal
vision?

(7) P.T.O.



(xxiii) 39l oz Regd i 6 2
' What is meant by "Dispersion of white light"?
(xxiv) w1 =f& 2 ;
What is geothérmal energy?
(xxv) *If&q Bes7 Gb1 SIS T A ?
Can any source of energy be pollution free?
Tl 1% o 41 ¢
Fill in the blanks : .
(a) =PRI SN FafEe T4 |
Balance the chemical equation.
Fe+H,0 — Fe,O,+H,
(b) «fers #1eq tite el TR ... (512 510 27|
.......(3as is released when metal reacts with dilute acid.
(¢) NaHCO, ...
(d) coitzTa fr<ie GferE sife........... 239 14 23 |

is the hormone that causes phototropism in

1%5=5

plants.

c) Gl ©Fs i Squfae =eikH.......... 23 |
The approximate percentage of methane gas in biogas

3-fFeiet / Group-B

et firrl RIEFITER A Tefers S A e 2
RAfRAN ZRG RS + FI-Ti-aHRE — Gl I
+ ifl
Write balanced chemical equation for the following reaction.
Calcium hydroxide + Carbon dioxide — Calcium Carbonate
+ Water

(8)

8.

10.

fRrarem Rz scarem R [edte @iz T a3z
fafegre area T -2
Why are decomposition reactions called the opposite of
combination reactions? Write equations for those reactions.
MG G 31 (sl (3 eifaica i 2202 S e 3 b1
Gojfar feralf | 2
Name the phenomenon due to which the taste & smell of
food changes when left for long time. Suggest one method
to prevent it.

pH 7 #Ra% wi% vawaa Wies 7197 & 2 sy @rE @M
3T~ 2 2
How is tooth decay related to pH? How can it be prevented?
AR =1 C#1f¥ I GINE @RI Al T1Ra @t Bee =
4l 2
Plaster of Paris should be stored in a moisture Proof

Container. Explain why?

TEIE IR 961 11 3sfe a2 e o 2
Why are noble gases placed in a separate group?
9Bl G71eT "X T A w1 17 1+1=2

The atomic Number of an element "X' is 17

(a) T @ETe! e g9 2
What will be its valency

(b) =fie e IFCB! <ol w1 offfare Bars csira T 2
Inwhich group & period of the Periodic table it is found?

9 PTO.




- ol O = o ?
11, it <14 b3St 4Mprz R <A 20 7 92 e . oifieiia S AR (SO TR Wl I 5 AR

=144 (1 egers 3eafbs zu e 2 fen w1 @1 Bw iRl gfs st 2
How are fats digested in our bodies? Where does this Canthe wings ofa butterfly and the wing of a bat be con sidered
rocess take place? ;
: ¥ homologous organs? Why or why not?
12. HAIG % SIS *35 e Alda b 2

. e &y e el SramERre S @ e 2

What are the diffcrences between acrobic and anacrobic What are fossils? What do they tell us about the process of

respiration? evolution?

0. =T eEifon Serifen crge & & Seimiet sfkzel e 2
What factors could lead to the rise of a new species?
. GramrETe 2Eae S e e 2

What are the disadvantages of fossil fuels?

12

13, e FICAWA 420 %902 F1F @t 2 fowa wzmre gigeatt 2
What is the principal focus of a concave mirror? Show with
diagram.

14, siforad @it &1

2 2. b1 wee xifE T e e e 2
State the laws of refraction. What are the qualities of an ideal source of energy?
15. e @ ai i ele Qpilde armas i 2am afefas sma aba
A 2 si-faeiel / Section-C
Draw the ray diagram for the image formation by a convex
lens, when object is placed at centre of curvature. 23. fr@actd 977 b1 fo et 1 Zarr o ket 1| 3
16. Aifefal o epal iR Rrne 2 Draw the structure gf a neuron and explain its function.
Why does the sun appear reddish early in the morning? 24, GTEFE S(g B S Al =) 3

17.. et 53 01 25 om 0% 65T T 3 AS G B 2 Describe the structure and functioning of nephrons.

Why is a normal eye not able to see clearly the objects SRR RO Lo e e - <RI g e

placed closer than 25 cm? Describe the double circulation of blood in human beings.

Why it it necessary ? 3

(10) (11) PT.O.




26. OO (SR QYT IFHIZ (T 15 cm | @z 2@ s wes
STFRIRE @B 1R A1 21es ©fF #imt 10 cm VAT 2SR 5o

2 (FFRS At e fefa 3=t | 3

A concave lens has focal length of 15 cm. At what distance
should the object from the lens be placed so that it forms

an image at 10 cm from the lens? Also, find the magnifi-

cation produced by the lens.
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